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Rely on these — 51X T7IN0

OVERVIEW

The X3 is presently assuming that when the miwn states 2°7Y 19V w° OX
M2 PN, we are discussing a situation where two witnesses claim that it
is a forged vi. The 71wn is therefore saying that in such a case if we find two
witnesses that will authenticate the v3, it will be considered a valid v). To
which the X713 asks; why should we rely on the two who authenticate the v1?
Let us rather rely on the two who invalidate the vi. The question Md0IN is
addressing is, why should we rely on those who invalidate more than those
who authenticate.

mooIn explains that the X732 means that we should rely on those -
= YN NYN NPINA NNPI NNINNN 1PHDI0Y

who invalidate the signatures, equally with those who authenticate the
signatures; and therefore since there are two conflicting sets of 2°7v, so let us
place her in her original status, that she is a married woman'.

SUMMARY
The ovp »7¥ and 7YY 7w contradict each other, forcing us to place the
woman in her original status as an WX NWX.

THINKING IT OVER
Does the X713 (and Md01N) mean when it says: "R 7m0, that she is a X7
X'"X or a X"X po0?

" In a case of two conflicting sets of »n >0’ — >7v, there are two opinions. One is that *3m > is a poo
Xn>>7XT and no AP can resolve the issue. In our case she would be a w*X nWX 750 and thereby Xwi7% 710K
790n. The other opinion is that by 01 >0 then 7707 11 we follow the 7p17; however 1127771 it remains a Poo
112771, In our case, she would seemingly be 70X because of the w>X nwX npir. [The 1312771 P50 would be
irrelevant in face of the M0°k npin.] It would seem that noo1n is following the opinion that *3n1 " nis a poo
(X2P?) 1327177; it is only because there is a X"R npi that she is 770K, According to the v w that M *Jn is a
RN*7IRT RP00, there seems to be no need to resort to the X"& npim. See 121 (TKRA) R"wIA.

Alternately one may say that ma0in is saying that even if M1 70 is a 11277 P20, nevertheless she is 770K
XWIY since there is a X"X npm. One may think that the >3 »7n, the o1p *7v and the 711 >7¥ cancel out each
other; leaving the 72°nn >7y as 0°w> 07y, since 722 IMTY 7P "Pd WY1 0w Py o°inna 07y, Therefore
she should be nw 1 npina. Nevertheless we say that she is X"& npira; the 717 >7v do not only contradict the
avp >7y, they also contradict the 7°nm >7v. There is no v3 °X7. There is only the X"& npim. See 121 °"12.
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